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10.

SECTION - A
Answer any FIVE questions of the following: (5x2=10)

Distinguish between Calls in advance and Calls in arrears.

Shiva Ltd issued ¥ 4,00,000, 9% debentures of ¥ 100 each at a discount of
5% redeemable at a premium of 10%. Pass necessary journal entry in the
books of Shiva Ltd.

How do you treat outstanding expenses in Final accounts of companiés?

How the share is valued under yield method?

The Promising Company Ltd. acquired plant and machinery at a cost of
¥3,30,000 from vendors. The amount payable to vendors was discharged by
the allotment of equity shares of the face value of ¥100 each. Pass Journal
entry. ST ALOYSIUS CCLLEGE LIBRARY

. S . ) 1URY - 575
List out any two objectives of social accounting. MANGALURY - 575 003

Define Company.
SECTION - B

Answer any FOUR questions of the following: (4x5=20)
Ananth holds 100 shares of ¥ 100 each on which he has paid ¥ 10 per share
as application money. Bharath holds 200 shares of 2100 each on which he
has paid %10 and ¥20 per share as application and allotment money
respectively. Chandan holds 300 shares of ¥100 each and has paid ¥ 10 on
application, ¥ 20 on allotment, and ¥30 per share on the first call. They all
failed to pay their arrears and second call of ¥ 40 per share and the directors
forfeited their shares. These shares are reissued for cash at a discount of

10%. Journalise the above transactions.

A public Ltd. Company issued prospectus inviting applications for 30,000
equity shares of ¥ 10 each. The whole issue was underwritten by three
underwriters — A, B and C as follows-

Mr A - 15,000 ; B - 10,000 shares and C - 5,000 shares.

Applications were received for 25,000 of which marked applications were ;

A - 10,000 shares; B -8,000 shares and C- 6,100 shares.

Prepare a statement showing the liability of underwriters.

Give the format of statement of profit and loss as per Companies Act, 2013.
Contdlllz
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11,

12,
13.

14,

15.

The net profits of a company, after providing for taxation, for the past 5
years are ¥ 42,000; ¥ 45,000; ¥ 45,000; ¥ 41,000 and % 47,000. The capital
employed in the business is ¥ 4,00,000 on which a reasonable rate of return
of 10% is expected. Compute the Goodwill under capitalization of average
profit method.
Explain the value -based methods of Human Resource Accounting.
On 1/04/2021, the following balances appeared in the books of Swarna Ltd:
16% Debentures %1,00,000
Debenture Redemption Fund ¥80,000.
Debenture Redemption Fund Investments ¥80,000
The investments consisted of 14% Mangalore City Corporation Bonds of the
face value of ¥90,000. The Annual instalment was ¥16,400,
On 31/03/2022 the balance at bank was 22,600 (Before receiving interest
on investment). The investments realized at 92% net and the debentures
were redeemed. Show Debenture Redemption Fund account and Debenture
Redemption Fund Investment account.
SECTION - C
Answer any TWO questions of the following: {2x15=30)
ACC Ltd. issued the prospectus inviting applications for 100,000 equity
shares of ¥10 each payable as to: %3 on Application; ¥ 2 on Allotment; %3

on First Call; and 2 -2 on Final call.

Applications for 1,20,000 were received. The Directors of the
company allotted the shares on a pro-rata basis as foilows:

a) To the applicants of 80,000 shares: Full allotment.

b) To the applicants of 30,000 shares; 20,000 shares allotted.

c) To the applicants of 10,000 shares: Nil.

All the calls were duly made and received. Excess application money
received is adjusted towards the allotment money.

Give journal entries to record the above transactions. Show how

STALOYSIUS COLLEGE LIBRAWY
MANGALURU - 575 003

On 01/04/2021, Kamal Ltd. issued debentures for #1,00,000 redeemable at
par at the end of five years. It was resolved that a Sinking Fund should be
formed and invested in tax free securities. Prepare sinking Fund A/c, Sinking
Fund Investment A/c, Bank A/c and debenture holders A/c for five years

assuming that the interest received on investment was at the rate of 5% on

these are shown in the Balance sheet.

cost, that the interest was received yearly and immediately invested and the
investments were realized at a loss of 300 at the end of fifth year.
Reference to the table shows that Re.0,180975 invested at the end of each

year at 5% compound interest will produce Re.1 at the end of five years.
Contd...3
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16. Following is the Trial Balance of Rajesh Ltd., Gurgaon as on 31.03.2020.

Particulars Debit (Z) | Credit (Z)
Share capital 80,000
(8,000 shares of ¥ 10/- each)
Stock on 1/4/2019 51,000 =
Purchases and sales 2,20,000 3,30,000
Returns 3,800 -
General Expenses 1,800
Wages 12,000
Salaries 18,700
Travelling Expenses 3,200
Advertisement 1,550
Rent and Taxes 4,900
Discount Received - . 2,200
Bank interest 850
Bad debts 2,500
Buildings 95,000
Plant and machinery 98,000
Sundry Debtors and Creditors 45,000 55,500
Loan - 25,000
Cash 1,400 -
Reserve Fund - 23,000
Preliminary Expenses 11,000 -
Profit and Loss Account (Cr) - 55,000
Totai 5,70,700 5,70,700

ST ALOYSIUS COLLEGE LIBRARY
Adjustments: MANGALURU - 575 003

1. Transfer ¥ 10,000 to Reserve Fund.

2. Provide depreciation on building at 5%.

3. Stock on 31.03.2020 was valued at ¥ 12,000.

4. Dividend at 15% on share capital is to the provided.
5. Depreciation on Plant and Machinery at 10%.

Prepare statement of profit and Loss and Balance Sheet in the prescribed

form.
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10.

Note: Log table will be provided

SECTION - A
Answer any FIVE of the following. (5x2=10)
Define statistics as a singular noun.
Explain census method of data collection.
Find Harmonic mean for following series sy ALOYSiUS COLLEGE LIBRARY
375, 0.05, 0.008, 25 MANGALURU - 575 003
If the arithmetic mean value of marks of a student in 8 subjects is 82 and the
marks in 7 subjects are 68, 96,74, 85, 70,78 and 92. Find the missing mark.
Write the formula of mean deviation and it's coefficient from mean and median
for discrete data.
From a moderately skewed distribution, it is found that the mean price is ¥ 50
and the median price is ¥ 45, If the Standarad deviation is 5, find
the coefficient of skewness of the distribution.
What is an index number?

SECTION - B
Answer any FOURof the following. (4x5=20)
For the following data, find two regression equations and estimate the value of
x when y=25 and value of y when x=35

X Y
AM 25 30
SD 4.5 5
r 0.9

The number of Lok Sabha members in the year 2022 was 550. During a
discussion on a motion put to vote 350 members voted in the favor of
resolution. 55 members belonging to the opposition party voted for the
resolution. The government members in the house were 325. All the members

are belonging to either of two groups and there were no absence.
Tabulate the above information

Calculate the Quartile Deviation and its coefficient for the foliowing data

Income <3000 | <4000 | <5000 <6000 <7000

No of workers 10 22 37 45 50

Contd..2
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Find GM of following series
1.03, 1.04, 1.06, 1.08, 1.12
12. Find the median for the following frequency distribution

11,

13.

14,

15.

16.

Page No. 2

C.l 10-20 20-40 40-70 70-80 80-90 90-100
f 10 3 7 12 5 2
Fit a trend line for the following by the method of Jeast square.
Year | 2001 | 2002 | 2003 | 2004 | 2005 | 2006 | 2007 | 2008 | 2009
Profit 28 35 42 51 49 63 68 76 83
SECTION - C
Answer any TWO of the following. (2x15=30)

a) If mode of the following distribution is 26 and N=25, Find missing

frequencies

Class

0-10

10-20

20-30

30-40

40-50

f

3

8

3

(10)

b) The mean age of 100 people is 30 years. If the mean age of group of men
is 32 years and that of group of women is 27 years. Find the number of men

and women.

STALOYSIUS COLLEGE LIBRARY

MANGALURY - 575 003

(5)

Calculate Karl Pearson’s correlation coefficient between x and vy , comment on

the result and find its significance,

X

5 10 15 20

25

Y

20 | 25 30 35

40

From the data given below, state

i) Which team is better scorer?
i) Which team is more consistent?
No. of goals scored - No of matches
in a match Team A Team B
0 8 6
1 12 10
2 6 12
3 3 8
4 1
ok 3 ok ok ok ok K ok Rk
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Time: 2 /2 Hours Max Marks: 60
SECTION - A
Answer any FIVE of the following. (5x2=10)
1. What is cost centre?
2. What is ordering cost of inventory? Give example
3. State any 2 Merits of Time wage system.
4. Distinguish between Stores Ledger and Bin Card. (Any two)
5. Name the branches of accounting
6. Write short notes on Fixed and variable costs
7. State any two causes for idle time.STALOYSIUS GOLLEGE LIERARY
MANGALTC . - T75 003
SECTION -B
Answer any FOUR of the following. (4x5=20)

10.

11,

12.

Explain the overhead cost classification on basis of function

Explain any five objectives of Cost accounting

A firm purchased raw materials ‘2’ from Raddy Company Ltd. Quantity
purchased is 5000 kg, at Rs 20 per kg. The company allows a trade discount
of 10%. Sales tax is 4%, freight 2 per kg. Inspection charges Rs 0.10 per
kg. Unloading charges 15 paise per kg. Calculate the purchase cost of

materials.

The following are the particulars given to you:

Standard time : 10 hours |

Time rate : Rs.3.00 per hour

Prepare a comparative table under Halsey Plan and Rowan Plan if time taken is
9 hours, 8 hours, 6 hours, 4 hours and 3 hours. The table should clearly show
the amount of bonus payable, the amount of total wages and labour cost per

hour under two methods.

Explain any five limitation of financial accounting

Contd...2
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13. Prepare a reconciliation statement from the following information:

Particulars Amount Rs.
Net profit as per cost books , 61000
Interest on investments 35000
Works overheads under recovered in cost accounts 2600
Income tax paid 18000
Transfer fees 1600
Administrative overheads over recovered in cost accounts 2200
Goodwill written off 6000
SECTION - C
Answer any TWO of the following. (2x15=30)

14. From the following transactions, prepare the Stores Ledger Account, pricing
the issues at the weighted average price system.

March |1 | Opening Balance 100 units at Rs.10/- per unit

Issued 25 units to Dept. A

Received 425 units at Rs.11/- per unit

10 | Issued 200 units to Dept B

12 | Returned to stores 10 units from Dept A

17 | Received 110 units at Rs.12.50 per unit

25 | Received 100 units at Rs.10/- per unit

29 | Issued 200 units to Dept B

15. From the following information prepare cost sheet ascertaining the cost under
the following divisions of cost:
a) Prime cost b) Works cost ¢) Total Cost d) Selling price
Direct Materials:
Paper pulp 500 tons at Rs.50/- per Ton.

Other Materials 100 tons at Rs.30/- per Ton.
Direct Lab . ST ALOYSIUS COLLEGE LIERARY
IFECL LabOUls MANGALURU ~ 575 003

80 skilled men at Rs.3 per day for 25 days.

40 unskilled men at Rs.2 per day for 25 days.

Direct Expenses:

Special Equipments: Rs.3,000.

Special Dies: Rs.1,000.

Works Overhead:

Variable : 100% on direct wages.

Fixed : 50% on direct wages.

Administration overhead at 10% on works cost.

Seliing and Distribution overhead at 15% on works cost.

Profit at 20% on Selling Price. Finished Paper manufactured 400 Tons.
Credit on account of scrap sold Rs.800. Selling rate to be ascertained to

the nearest rupee.

Contd...3
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16. The National Enterprise Ltd. has three production department A, B and C and
two service departments D and E. The following figures are extracted from

the records of the company.

Rs.
Rent, rates & taxes 10,000
Indirect wages 3,000
Depreciation on machinery 10,000
General lighting 1,200
Power 3,000
Sundries 10,000

The further information available are as follows:

Particulars Total A B C D E
Floor shares (Sq.ft.) 10,000 2,000 2,500 3,000 2,000 | 500
Light points 60 10 15 20 10 " |5
Direct wages (Rs.) 10,000 3,000 2,000 3,000 1,500 | 500
H.P. of machine 150 60 30 50 10 .
Working hours = 6,226 4,028 4,066 -- -
Value of machine (Rs.) 2,50,000 {60,000 | 80,000 |1,00,000 5,000 | 5,000

Expenses of D and E are allocated as follows

D 20% 30% 40% . 10%
E 40% 20% 30% 10% -=
STALOYSIUS CCLLEGE LIBRARY
Prepare : MANGALURY -~ 575 003

1. Primary distribution summary
2. Secondary distribution summary (using simultaneous equations)
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N o u oA

10.

11.

12.

SECTION - A
Answer any FIVE of the following. (5x2=10)
Mention the three parties involved in an assurance engagement.

List any two advantages of a company following good corporate governance

principles.
Name the three categories of misstatements.
What is an error?
What is professional scepticism?
What is the purpose of gathering audit evidence?
What is audit sampling? ST ALGYSIUS COLLEGE LIBRARY
MANGALURU - 575 003
SECTION-B

Answer any FOUR of the foliowing. (4x5=20)
Explain the matters that should be considered before relying on the work of
auditor's experts.
Differentiate between internal and external auditors.
What are advantages and disadvantages of outsourcing the internal audit
function?
Mention the matters that should be considered under professional clearance
before accepting an engagement.
Itis 1 July 20X5. You are currently performing subsequent events procedures
for the audit of Kookynie Co. From a review of the board minutes, you identify
that a customer is suing the company for an injury they suffered on the
client's premises on 5 April 20X5. The client's year-end is 31 March 20X5. The
directors are proposing to amend the financial statements to include a
provision for the amount of compensation they expect to have to pay to the
customer. Legal advice received indicates that the claim is possible to
succeed.
A) Which of the following statements is TRUE with regard to subsequent
events?

i, The auditor must perform audit procedures to identify events occurring

after the date of the financial statements up to the date the auditor's

report is signed that could have an effect on the financial statements
Contd...2
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ii.  The auditor does not need to consider any events which occur after the
date of the financial statements as it is outside of the reporting period

iti.  The auditor has no responsibility after the auditor's report has been
signed, even if they become aware of events occurring which means
the opinion is now incorrect

iv.  The auditor only needs to consider subsequent events communicated
to them by the directors
B) Which of the foliowing statements is FALSE in respect of subsequent
events?

i.  The auditor must ensure the client has complied with IAS 10 Events
After the Reporting Period when performing the audit of subsequent
events

li.  The auditor must comply with IAS 10 Events After the Reporting Period
when performing the audit of subsequent events

iii. The auditor must comply with ISA 560 Subsequent Events when
performing the audit of subsequent events
iv.  Events after the reporting period may be adjusting or non-adjusting
C) Which of the following is TRUE in respect of adjusting events?

i. Adjusting events are those events which occur before the auditor's
report has been signed

ii. Adjusting events are those which occur after the year-end date

iil. Adjusting events are those which occur after the year-end date and
provide evidence of a condition existing at the year-end date

iv. Adjusting events require disclosure in the notes to the financial
statements

D) In respect of the customer's claim, which 9f the following statements is
ST ALOYSIUS COLLEGE Libhinn

TRUE? MANGALURU - 575 003
i. If the claim is probable rather than possible, a provision should be

recognised in the financial statements dated 31 March 20X5
ii. The injury was caused after the year-end therefore was not a condition
in existence at the year-end
iii. The injury was caused after the year-end therefore has no impact on
the financial statements being audited
iv. The claim is an adjusting event and the financial statements should
reflect the claim
E) Which of following procedures would NOT be appropriate in respect of
Kookynie Co's subsequent events review?
I. Inspect correspondence from the lawyers regarding the likely outcome
of the case and the estimate of compensation if the claim is successful
ii. Discuss with management the details of the accident giving rise to the

claim
Contd...3
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iii. Obtain written representation from management that ali known
subsequent events have been disclosed to the auditor and reflected in
the financial statements

iv.  Telephone the lawyer to discuss further details of the case of which the
client may not be aware

Discuss the elements of an assurance engagement.

SECTION - C
Answer any TWO of the following. (2x15=30)
i.  Explain the components of internal control system.
i. What are the ways of documenting client's internat control system?
iii. Write a note on ISA 265 Communicating Deficiencies in Internal Control
to those Charged with Governance and Management.
i. Explain the five principles of ACCA's code of ethics.

ii. Explain the matters that should be considered before accepting a new
ST ALOYSIUS COLLEGE LIBRARY
engagement. MANGALURU - 575 003

Briefly explain the audit procedures to be followed in the evaluation of :
i.  Non-Current liabilities.
il.  Non-current assets

iii.  Inventory
ko o K ok K K K K K
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B.Com. (International Finance) Semester III — Degree Examination
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FINANCIAL MANAGEMENT - I
Time: 21/, Hours Max Marks: 60
SECTION - A
Answer any FIVE of the following. (5%x2=10)

What you mean by EPS?
2. Who are stakeholders? Mention any 4 stakehoiders.

Monthly demand for a product is 10,000 units. The purchase price is
$10/unit and the company’s cost of finance is 15% per year. Warehouse

storage costs per unit per year are $2/unit. The supplier charges $200 per

ST ALOYSIUS COLLEGE LIBRARY

order for delivery.
MANGALLR! - 575 0C3

Calculate the EOQ.
Mention the components of Macro economic policy.

5. Walshey Co has already decided to accept a project and is now considering
how to finance it.
The asset could be leased over four years at a rental of $36,000 per year,
payable at the start of each year. Tax is payable at 30%, one year in arrears.
The post-tax cost of borrowing is 10%.
Required:
Calculate the net present value of the leasing option.

6. What you mean by reorder level?
A payment of $3,600 is to be made every year for seven years, the first
payment occurring in one year's time. The interest rate is 8%.
What is the PV of the annuity? (Annuity Factor at 8% for 7 years = 5.206)

SECTION - B
Answer any FOUR of the following. (4x5=20)
8. A project involves the immediate purchase of an item of plant costing
$110,000. It would generate annual cash flows of $24,400 for five years,
starting in Year 1. The piant purchased would have a scrap value of $10,000 in
five years, when the project terminates.
Determine the project's ROCE using:
(a) initial capital costs
(b) average capital investment
Contd...2
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Paisley Co has sales of $20 million for the previous year, receivables at the
yvear-end of $4 million and the cost of financing receivables is covered by an
overdraft at the interest rate of 12% per year. It is now considering offering a
cash discount of 2% for payment of debts within 10 days.

Should it be introduced if 40% of customers will take up the discount?

Explain NPV and the assumptions of NPV.

A company has $100,000 available for investment and has identified the
following 5 investments in which to invest. All investments must be started
now (Yr 0),

Project Initial Investment (Yr 0) NPV

$000 $000
C 40 20
D 100 35
E 50 24
F 60 18
G 50 -10
Required:

Determine which projects should be chosen to maximise the return to the
- ST ALOYSIUS COLLEGE LISRARY
usiness. MANGALURU - 575 003

D Co uses component V22 in its construction process. The company has a
demand of 45,000 components per year. They cost $4.50 each. There is no
lead-time between order and delivery, and ordering costs amount to $100 per
order. The annual cost of holding one component in inventory is estimated to
be $0.65.

A 0.5% discount is available on orders of at least 3,000 components and a
0.75% discount is available if the order quantity is 6,000 components or
above.

Calculate the optimal order quantity.

Explain the problems faced and means of protection in foreign trade with

reference to exporters,

SECTION - C
Answer any TWO of the following. (2x15=30)
Explain Cash operating cycle.
An investment of $40,000 today is expected to give rise to annual contribution
of $25,000. This is based on selling one product, with a sales volume of
10,000 units, selling price of $12.50 and variable costs per unit of $10.
Incremental annual fixed costs of $10,000 will be incurred for the next four

years; the discount rate is 10%.
Contd,..3
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Required:
(a) Calculate the NPV of this investment.
(b) Calculate the sensitivity of your calculation to the following:
(i) initial investment
(ii) selling price per unit
(iii) variable cost per unit
(iv) sales volume
(v) fixed costs g1 a1 0vSIUS COLLEGE LIBRARY
(vi) discount rate MANGALURU - 575 003
A business undertakes high-risk investments and requires a minimum
expected rate of return of 17% per year on its investments. A proposed

capital investment has the following expected cash flows:

Year 0 1 2 3 4
$ (50,000) 18,000 25,000 20,000 10,000
Required:

(i) Calculate the NPV of the project if the cost of capital is 15%.

(ii) Calculate the NPV of the project if the cost of capital is 20%.

(iii) Use the NPVs you have calculated to estimate the IRR of the project.
(iv) Recommend, on financial grounds alone, whether this project should go

ahead.
2 3K 3k K K K K K K
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PERFORMANCE MANAGEMENT

Time: 21/2 Hours Max Marks: 60
Note: Graph Sheet will be pro-vided.
SECTION - A
Answer any FIVE of the following. (5x2=10)

1.

o ;AW N

10.

A company has recently adopted throughput accounting as a performance
measurement tool. Its results for the last month are shown below.

Units produced 1,150
Units sold 800
Materials purchased 900 Kg costing $13,000
Opening material inventory used 450 Kg costing  $7,250
Labour costs  STALOYSIUS $OLLEGE LIBRARY $6,900
Overheads MANIGAI.URU -~ 575003 $4,650
Sales price $35

There was no opening inventory of finished goods or closing inventory of
materials. Calculate throughput for this product?

Write a note on internet.

What is spreadsheet?

Mention any two advantages of ABC.

Write the formula to calculate weighted average C/S ratio.

Fixed costs $100,000.

e Variable costs per unit $5 for volumes up to 1,000 units.

« Volumes above 1,000 units receive 5% discount on all units.

Required: Derive the two equations for the total cost function.

What is risk and uncertainty?

SECTION - B
Answer any FOUR of the following. (4x5=20)
Explain the different pricing strategies.
Explain the role of information system in decision making.
A business has prepared the following standard cost card based on producing

and selling 10,000 units per month:

$
Selling price 10
Variable production costs 3
Fixed production cost 1
Profit per unit 6

Contd...2
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Actual production and sales for month 1 were 12,000 units and this resuited in

the following:

$000
Sales 125
Variable production costs 40
Fixed production cost 9
Total profit 76

Using a flexible budgeting approach, prém—reg-table showing the original fixed
budget, the flexed budget, the actual results and the total meaningful
variances.

The following data relate to Product PQ :

Selling price $25 per unit

Variable cost $20 per unit

Fixed costs are $50,000.

(a) Calculate the number of units that must be made and sold in order to
break even.

(b) Calculate the level of activity that is required to generate a profit of
$40,000. |

(c) The company budgets to sell 13,000 units of Product PQ. Calculate the
margin of safety.

(d) Calculate the contribution/sales ratio for Product PQ.

(e) Calculate the break-even point again, expressed in terms of sales revenue.
A company has produced the following information lor a product it is about to

launch. The product is expected to have a life of three years.

Year 1 2 3
Expected sales units 2,000 5,000 7,000
Variable production cost per unit $2.30 $1.80 $1.20
Fixed production costs $3,000 $3,500 $4,000
Variable selling cost per unit $0.50 $0.40 $0.40
Fixed selling costs $1,500 $1,600 $1,600
Administrative costs $700 $700 $700

What is the life-cycle cost per unit?

X Ltd makes three products, A, B and C, for which unit costs, machine hours
STALOYSIUS COLLEGE LIBRARY

and selling prices are as follows: MANGALURU - 575 003
Product A Product B Product C
Machine hours 10 12 14
$ $ $
Direct materials @50c¢ per kg 7(14 ka) 6{12 kg) 5(10 kg)
Direct wages @$7.50 per hour 9(1.2 hours) 6(0.8 hours) 3(0.4 hours)
Variable overheads 3 3 3
Marginal cost 19 15 11
Selling price 25 20 15
Contribution 6 5 4

Sales demand for the period is limited as follows:

Product A 4,000
Product B 6,000
Product C 6,000

Contd...3
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Company policy is to produce a minimum of 1,000 units of Product A. The
supply of materials in the period is unlimited, but machine hours are limited to

200,000 and direct labour hours to 5,000.
Identify the scarce resource and calculate the contribution per unit for each

product,

SECTION - C
Answer any TWO of the following. (2x15=30)
Cabal makes and sells two products, Plus and Doubleplus. The direct costs of

production are $12 for one unit of Plus and $24 per unit of Doubleplus.

Information relating to annual production and sales is as follows:

Plus Doubleplus
Annual production and sales 24,000 units 24,000 units
Direct labour hours per unit 1.0 1.5
Number of orders 10 140
Number of batches 12 240
Number of setups per batch 1 3
Special parts per unit 1 4

Information relating to annual production and sales is as follows:

Cost driver Annual cost
$
Setup cosis Number of setups 73,200
Special parts handting Number of special parls 60,000
Other materials handling Number of baiches 63,000
Order handling Number of orders 19,800
Other overheads - 216,000
ST ALOYSIUS COLLEGE LIBRARY
MARGALUPL ~ 575 203 432,000

Other overhead costs do not have an identifiable cost driver, and in an ABC
system, these overheads would tbe recovered on a direct labour hours basis.
(8) Calculate the production cost per unit of Plus and of Doubleplus if the
company uses traditional absorption costing and the overheads are recovered
on a direct labour hours basis.

(b) Calculate the production cost per unit of Plus and of Doublepius if the
company uses ABC.

(¢} Comment on the reasons for the differences in the production cost per unit
between the two methods.

(d) What are the implications for management of using an ABC system instead
of an absorption costing system?

J Farms Ltd can buy two types of fertiliser which contain the following

percentage of chemicals:

Nitrates Phosphates Potash
Type X 18 5 2
Type Y 3 2 5
For a certain crop the following minimum quantities (Kg) are required
Nitrates 100 | Phosphates 50 |  Potash 40 |
Contd...4
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Type X costs $10 per kg and type Y costs $5 per kg. J Farms Ltd currently
buys 1,000 kg of each type and wishes to minimise its expenditure on
fertilisers.

(a) Formulate the objective function and the constraints for J Farms Ltd.

(b) Draw a graph to illustrate all the constraints (equations/inequalities),
shading the feasible region.

(c) Recommend the quantity of each type of fertiliser which shouid be bought
and the cost of these amounts,

(d) Find the saving J Farms Ltd can make by switching from its current policy

to your recommendation.

a) A company produces two products in three departments. Details are shown
below regarding the time per unit required in each department, the

available hours in each department and the contribution per unit of each

product:
Product X; Product Y: Available
hours per unit  hours per unit hours
Department A 8 10 11,000
Department B 4 10 9,000
Department C 12 6 12,000
Contribution p.u. %4 $8

STALOYSIUS COLLEGE LIBRARY
MANGALURY - 575 003
There is unlimited demand for Product X, but demand for Product Y is limited

to 600 units per annum.
Petermine, using a step-by-step approach, what the optimum production plan
is. (10 Marks)

b) Write a note on MIS, (5 Marks)
e 35 oK K K ok oK Kk
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St Aloysius College (Autonomous)
Mangaluru
B.Com. (Accounting and Tax) Semester III - Degrée Examination
November/December - 2023
CORPORATE ACCOUNTING

Time: 21/, Hours Max Marks: 60
SECTION - A
Answer any FIVE of the following. (5x2=10)
1. Mention any two advantages of the Stock and Debtors method as compared
with the Debtors method of accounting for dependent branches.
What are the two main conditions for a Buy Back of Equity Shares?
What are dependent branches?
What is an operating cycle as per the General Instructions of Schedule I11?
What are the time restrictions to buy-back of equity shares?
At what rate are Fixed Assets translated to Home Currency for Non-Integral

o> v s W

Foreign Operations branch?

7. What is Dividend on Shares?
STALOYSIUS COLLEGE LIBRARY

MANGALURY - 575 003 SECTION - B

Answer any FQUR of the following. (4x5=20)
8. Following is the Cash Flow Abstract of Varaprada Ltd. for the year ended 31st

March -

D '_""Iﬁﬂow}."' ' % outflows } "%"'“"

IOpenlng Baiance |Payment to Creditors 90 UOOI

icash ¢ 10,000Salaries and Wages | 25,000

[Bank T i 70,000 ]Pa{l-ﬁgr;tnof Overhead ;' - 15,000:'

iISSI;?JI:dCapltaI - Share !i 5,00, 000|F|xed Assets Acquired ! 4,00, OOO?i

ICollection from Dé-btors t ' 3 'SOHOOf‘Jmi‘D_e_b‘éﬁtures Redeen"lgd | _5_0‘—.000'

Sale of leed Assets | 70 000 '‘Bank loan repaid | 2,50,000;

P B ‘Taxation - ! 55,000

| ; " Dividends ; 1,00,000

T \CTJs".r{gj Balance: - |—"_* o

i | ‘Cash 5, 000

C T Teank ‘i"_ 10,000°

Total m;"i'd 00,000 Total 10,00, 0'06I

Prepare Cash Flow Statement for the \ year ‘ended 31st March in accordance

with AS-3.

Contd,..2
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Show journal entries to rectify/adjust for the following in the books of the
independent branch at Mumbai:

a) Head office has allocated expenses of 254,000 to the branch and branch is
yet to record the same.

b) Depreciation of ¥51,000 on fixed assets of branch not yet charged by
branch. (Head office maintains the asset accounts)

c) Branch paid 84,000 as salary of the Manager at Head office who was on
a visit to the branch.

d) The Head office has collected 223,000 directly from a customer of the
branch which has not been entered by branch.

e) Goods dispatched by Head office of 90,000 not yet received by branch till
year end and cash sent by branch 254,000 to the Head office is yet to be
received by Head office.

What are the Conditions for Merger Method as per AS-14?
What are the Journal Entries for Buy-Back of Equity Shares?
What are the various indicators of a Non-Integral Branch?

From the following information of XYZ Ltd. Calculate Cash and Cash .
Equivalent on 31st March as per AS 3:(%)

i(a) Balance as per the Bank Statement ! 25,000'!
(b) Cheque issued but not presented in the Bank | 15,000
{(c) Short Term investment in liquid Equity Shares of ABC Ltd | 50,000}
'(*d‘)_ r_-'lxed Deposit created on 1st November and r.r.{aturingjmch)wr'{~ T T
. 15th April | 75,000
{(e) Short term T estment in high fiquid Sovereign Debt Mutual | | 00 aoq

i Fund on 1st March ' 1,00,000

|(f) Bank Balance In a Foreign Currency Account inIndia | $1,000]
[(Conversion Rate: On the day of deposit ¥69/$. As on 31st March 370/$)
gfALOYSIEJ_S.EE)LLE(;E-:EE;E’.EEIE’{ o o o

MANGALURU - 575 003 SECTION - C

Answer any TWO of the following. (2x15=30)
The Following is the Trial Balance of Indradev Ltd. as on 31st March:

Particulars ¥ 000's Particulars Z 000’s
Equity Capital {(Shares of 210
Land at Cost 110 |each) 150
Plant and Machinery at Cost 385 |10% Debentures 100
Debtors 48 |General Reserve 65
Closing Stock (i.e. on 31st
March) - 43  |Profit and Loss A/c 36
Bank 10 |Securities Premium 20
Adjusted Purchases 160 |[Sales 350
Factory Expenses 30 [Creditors 26
Administration Expenses 15 |Provision for Depreciation 86
Selling Expenses 15 [Suspense A/c 2
Debentures Interest 10
Interim Dividend Paid 9
Total 835 |Total 835
Contd...3
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Additional Information: ,

i)  On 31st March, the Company issued Bonus Shares to the Shareholders
on 1: 3 basis. No entry relating to this has yet been made.

i)  The Authorised Share Capital of the Company is 25,000 Equity Shares
of 710 each.

iii) The Company, on the advice of an independent valuer, wishes to
revalue the Land at ¥1,80,000.

iv) The Company declared a Dividend of 10%. This is in addition to the
Interim Dividend already paid as given above.

v) Suspense Account of ¥2,000 represents cash received for the Sale of
some of the Machinery on the 1st day of the financial year. Cost of this
Machinery was 25,000 and Accumulated Depreciation thereon being
24,000.

vi)  Depreciation is to be provided on Plant and Machinery at 10% on Cost.

You are required to prepare Indradev Ltd's Profit and Loss A/c for the year
ended 31 March and a Balance Sheet on that date as per the provisions of the
Companies Act.
Your answer should include Detailed Schedules enly for the following items -
(a) Share Capital, STAL(::;S.!U:.:?E(')‘LLEGE LIERARY
(b) Reserves and Surplus, and WETR - R75 003
(c) Fixed Assets.
Ignore previous year figures and Taxation.

15. Mohan Ltd. Gives you the following information as on 31st March, 2020:

Particulars 4

Share Capital:

Equity Shares of T10 each 3,00,000
6,000, 9% cumulative preference shares of ¥10 each 60,000
Profit and Loss Account (Dr. balance) 1,70,000
10% Debentures of 100 each 2,00,000
Interest payable on Debentures 20,000
Trade Payables 1,50,000
Property, Plant and Equipment 3,40,000
Goodwill 10,000
Inventory 80,000
Trade Receivables 1,10,000
Bank Balance 20,000

A new company Ravi Ltd. is formed with authorised share capital of ¥4,00,000
divided into 40,000 Equity Shares of 210 each. The new company will acquire

the assets and liabilities of Mohan Ltd. on the following terms:
Contd...4
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1. (a) Mohan Ltd.'s debentures are paid by similar debentures in new
company and for outstanding accrued interest on debentures, equity
shares of equal amount are issued at par.

(b) The trade payables are paid by issue of 12,000 equity shares at par in
full and fina!l settlement of their claims.

(c) Preference shareholders are to get equal number of equity shares
issued at par. Dividend on preference shares is in arrears for three
years. Preference shareholders to forgo dividend for two years. For
balance dividend, equity shares of equal amount are issued at par.

(d) Equity shareholders are issued one share at par for every three shares
held in Mohan Ltd.

5. Current Assets are to be taken at book value (except inventory, which is to

be reduced by 10%). Goodwill is to be eliminated. The Property, plant and

equipment is taken over at 23,08,400.

3. Remaining equity shares of the new company are issued to public at par

fully paid up.

4. Expenses of 5,000 to be met from bank balance of Mohan Ltd. This is to

be adjusted from the bank balance of Mohan Ltd. before acquisition by Ravi
Ltd STALOYSIUS COLLEGE LIBRARY
' MANGALURU - 575 003

You are required to prepare:
i) Realisation account and Equity Shareholders’ account in the books of
Mohan Ltd.
ii) Bank Account and Balance Sheet with notes to account in the books of
Ravi Ltd.
From the following particulars relating to Pune Branch for the year ending

December 31, 2013, prepare Branch Account in the books of Head office.

I Particulars - T Z i 3
rsﬂfc—)—c'k at Branch on January 1, 2013. B e _16,050 !
| Branch Debtors on January 1 2013 ) o ; 4-,600
' Braﬁaxﬂa_e“btors on December, 31 2013 o | 4,900
I'Petty Cash at - branch o on Januar"_y} 1 2013 | - .-.Ilr 500
| Furmture at Branch on Jar}u.ary 1, 2013 T t o :”—" 2—,—650—
l—repald fire insurance premlum c';ri':'l-anuary 1 2013 ,[ T 180!
i éalénﬁ?s%ﬁi:&ahdmg at branéh on JanL_i_ary 1, 2013 | _i 100
'I ‘Good sent to Branch during the year o ! o . o 80,00_0—
(Cash sales durlng the year e e { T i_ 1_:30,00-0_
Contd...5
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"(_:'redlt sales during ‘the yeé?——mm T |* r ~46"500
CashTeceived from debtors I[_" T Eé’;b_o’dg
E-IC.a—s_h_ paid by ‘the branch d&itors“di_;"ectly to the | N !.._._ T
! Head office i I 2,800 l
Discount allowed to debtors ) , oo 100 |

Cash sent to b"r'anch for Exp:é_n‘s"es . T [_ o [ T __;
:Rent o 5000 '_'5
_gglé_ﬁ-és T e ﬂi _?2,46'03"_' !

Petty “cash STALOVSIUS COiLEGE LIBRARY | 1,0000 |

_ . MANGALURU - 572 003 A _

Insurance up to March 31, 2014 1 600 | 6,000
| GOOdS returned by the BI‘éhCh B S ; i _i o _-i,-(jOMOW;
l Goods returned by the debtors o \ ll 2,00?)1
[ Stock on December 31, 2013 I S 'S]cjdo];
|-I;e‘tty-6ash spent by branch l ) '_85"01

| Provide depreuatmn on furniture 10% p a.

Goods costlng Z1, 200 were destroyed on account of fire and a sum of Z1,000

was received from the Insurance Company.
ok ok % oK K K K K kK
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St Aloysius College (Autonomous)

Mangaluru
B.Com. (Accounting and Tax) Semester III - Degree Examination

November/December - 2023
INCOME TAX -1

21/, Hours | Max Marks: 60
SECTION-A

Answer any FIVE of the following. (5x2=10)

Mr.Joseph, a resident Indian, earns income of Rs.20 lakhs from sale of coffee

grown, cured, roasted and grounded by him in India during the
A.Y.2024-25.What would be the business income chargeable to tax in India of
Mr. Joseph ?

Mr.Dheeraj has a total income of Rs. 12 Lacs for PY 2023-24, comprising of
salary & interest on fixed deposits. Compute his tax liability for AY 2023-24
under the default scheme if his age is 45 years;

Mr.Sushanth , Karta of HUF claims that the HUF is non-resident as the
business of HUF is transacted from Poland and all the policy decisions are
taken there. State with reason whether the claim made by Mr, Sushanth is
true or false ?

Mr. Rajendra , a resident Indian, earns income of Rs.10 lakhs from sale of
coffee grown and cured in India during the A.Y.2024-25.

What would be the Ryl RSTIEERTIgRRRIC © = In Tndie of

Mr. Rajendra? MANGALURU - £75 003

Anushree has let out one of her property. Compute the Gross Annual Value of

house property from the information given below

Particulars { Amount in

; P _Rs
Municipal Valuation 190,000 p.a
[Fair Rent ;84,000 p.a |
iStandard Rent [ 78,000 p.a

[Actual Rent Received / Receivable 72,000 p.a |
Mr. Anuj, the director of the MRF Ltd has received commission from the

company.
When do we treat this commission as "Income From Salary"?
Mr.Nithin, a British national, is a resident and ordinarily resident in India
during the P.Y. 2023-24. He owns a house in London, which he has let out at
£ 10,000 p.m. The municipal taxes paid to the Municipal Corporation of
London is £ 8,000 during the P.Y. 2023-24, The value of one £ in Indian
rupee to be taken at INR 95. Compute Rajesh’s Net Annual Value of the
property for the A.Y. 2024-25.

Contd...2
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SECTION - B
Answer any FOUR of the following. (4x5=20)
State the instances where the income of Previous Year is assessable in
Previous Year itself instead of Assessment Year.
ABC Inc., a Swedish company headquartered at Stockholm, not having a
permanent establishment in India, has set up a liaison office in Mumbai in
April, 2021 in compliance with RBI guidelines to look after its day-to-day
business operations in India, spread awareness about the company's products
and explore further opportunities.
The liaison office takes decisions relating to day-to-day routine operations and
performs support functions that are preparatory and auxiliary in nature. The
significant management and commercial decisions are, however, in substance
made by the Board of Directors at Sweden. Determine residential status of
ABC Inc. for AY 2024-25,
Mr. Vinod aged 45 years earned the following incomes during the year ended
on 31.03.2024, Compute his total income, if he is Resident but not ordinarily

resident assuming that he has exercised the option of the default tax regime.
STALOYSIUS COLLECGE LIBRARY

Particulars MALGALURU - 575 003

() Agricultural Income from Sri Lanka Rs.25,000

(i) Long term capital gain on sale of property in Bombay but received in
Burma Rs.30,000

(iii) Profit from business in Dubai controtled from India Rs.2,50,000

(iv) Rent from house property in Thailand received in India Rs.1,00,000

(v} Interest on Savings account from bank in India Rs.8,000

(vi) Past untaxed foreign income brought into India during the year
Rs.1,00,000

Mrs. Avani, a resident aged 25 years, manufactures tea leaves from the Tea
plants grown by him in India. These are then sold in the India market for

Rs. 40 lakhs.

The cost of growing tea plants was Rs.15 lakhs and the cost of manufacturing
tea leaves was Rs.10 lakhs. Compute her tax liability for the Assessment Year
2024-25 under the default scheme.

Mrs. Spandana has one house property at Indira Nagar in Bangalore. She
stays with her family in the house. The rent of similar property in the
neighborhood is Rs. 25,000. p.m. The municipal valuation is Rs. 2,80,000 p.a.
Municipal taxes paid is Rs. 8,000. The house construction began in April 2018
with a loan of Rs. 20,00,000 taken from SBI Housing Finance Ltd. @ 9% p.a.
on 1.4.2018. The construction was completed on 30.11.2021. The
accumulated interest up to 31.3.2021 is Rs. 3,60,000.

Contd...3
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On 31.3.2024, Spandana paid Rs. 2,40,000 which included Rs. 1,80,000 as
interest. There was no principal repayment prior to this date. Compute
Spandana’s income from house property for A.Y. 2024-25.

Mr. Gupta retired on 1.12.2023 after 20 years of service and received leave
salary of Rs.5,00,000.

Other details of his salary income are :

Basic Salary : Rs. 5,000 p.m.(Rs.1,000 was increased w.e.f. 1.4.2023)
Dearness Allowance : Rs. 3,000 p.m. (60% of which is for retirement
benefits)

Commission : Rs.500 p.m.

Bonus : Rs.1,000 p.m.

Leave availed during service : 480 days He was entitled to 30 days leave
every year.

You are required to compute his taxable leave salary assuming:

(a) He is a government employee.

(b) He is a non-government employee.

SECTION - C
Answer any TWO of the following. (2x15=30}
Two brothers Bharat and Ram are co-owners of a house property with equal

share. The property was constructed during the financial year 1998-99. The
property consists of eight identical units and is situated at Cochin. During the
financial year 2023-24, each co-owner occupied one unit for residence and
the balance of six units were let out at a rent of INR 15,000 per month per
unit. The municipal value of the house property is INR 10,00,000 and the
municipal taxes are 20% of municipal value, which were paid during the year.
The other expenses were as followsST ALOYSIUS COLLEGE LIBRARY

i) Repairs= 50,000 - MANGALURU - 575 0603

ii) Insurance premium {paid) = 50,000

iil) Interest payable on loan taken for construction of house = 4,00,000

One of the let-out units remained vacant for four months during the year.
Bharat could not occupy his unit for six months as he was transferred to
Mexico. He doesn‘t own any other house. The other income of Mr. Bharat and
Mr. Ram are INR 7,50,000 and INR 8,800,000, respectively, for FY 2023-24.
Compute the income under the head ‘Income from House Property’ and the
total income & tax liability of two brothers for the assessment year 2024-25
assuming that both the brothers have exercised the option of shifting out of
the default tax regime provided under section 115BAC(1A).

' Contd...4
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i} Compute the tax liability under default tax regime of Mr.Dhanush (aged
55), for the Assessment Year 2024-25.

Particulars Amount
Salary From Tcs 40,00,000
Rent Received 20,00,000
Interest On Borrowed Capital 2,40,000.0

ii) Mr. Bhavish owns a house in Goa.

During the previous year 2023-24,

Municipal value of the property is Rs. 26,40,000 p.a.,
Fair rent is Rs. 24,00,000 p.a. and
Standard rent is Rs. 27,30,000 p.a

'STALOYSI
Rent received Rs.25,00,000 p.a US COLLEGE LIBRARY

MANGALURU - 575 003

He paid municipal taxes @10% of municipal value during the year. A loan of
Rs. 25,00,000 was taken by him during the year 2019 for acquiring the
property. Interest on loan paid during the previous year 2023-24 was

Rs. 3,60,000. Compute Bhavish income from house property for the
A.Y.2024-25 assuming that he has exercised the option of shifting out of the
default tax regime provided under section 115BAC(1A}).

i) Compute the tax liability under default tax regime of Mr.Thanush (aged 35),
having total income of Rs.51,20,000 for the Assessment Year 2024-25.
Assume that his total Income comprises of salary income, income from house
property and interest on fixed deposit.

ii} Mr.Rajesh owns a house in Madras. During the previous year 2023-24,
2/3rd portion of the house was self-occupied and 1/3rd portion was let out for
residential purposes at a rent of Rs. 95,000 p.m.

Munlcipal value of the property is Rs. 27,60,000 p.a.,

fair rent is Rs. 27,00,000 p.a. and

standard rent is Rs. 27,30,000 p.a.

He paid municipal taxes @10% of municipal value during the year. A loan of
Rs. 25,00,000 was taken by him during the year 2019 for acquiring the
property. Interest on loan paid during the previous year 2023-24 was

Rs. 3,60,000.

Compute Rajesh income from house property for the A.Y.2024-25 assuming
that he has exercised the option of shifting out of the default tax regime

provided under section 115BAC(1A).
a8 3k K K 0K K K Ok
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St Aloysius College (Autonomous)
Mangaluru

B.Com. (Accounting and Tax) Semester III — Degree Examination

November/December - 2023
FINANCIAL REPORTING - I

Time: 21/, Hours Max Marks: 60
SECTION - A
Answer any FIVE of the following. (5x2=10)
1. Define Reportable Segment.
2. Mention the formula to calculate Diluted EPS.
3. Mention the valuation rule for Raw Materials.
4, Mention any 2 exclusions from the cost of PPE.
5. At what value is a long term investment reclassified into current investment?
6. Define Fair Value.
7. Define Government Grants.

10.
11.

12.
13.

SECTION - B
Answer any FOUR of the following. (4x5=20)
XYZ Ltd has three segments namely X, Y and Z. The total assets of the
Company are Rs. 10 Crores. X has Rs. 2 Crores, Y has Rs. 3 Crores and Z has
Rs. 5 Crores. Deferred Tax assets included in the assets of each segment are

X - Rs. 0.5 Cr, Y- Rs. 0.4 Cr and Z - Rs. 0.3 Cr. Identify the reportable

STALOYSIUS COLLEGE LIBRARY
MANGALURY - 575 003
Mention all the Related Party relationships as dealt with in Accounting

Standards 18.
Define Discontinuing Operation.

Segments.

An enterprise reports Quarterly, estimates an annual income of Rs. 10 Lakhs.
Assume tax rates on first Rs. 5,00,000 - 30% and bélance at 50%. The
estimates quarterly income are Rs. 75,000, Rs. 2,50,000, Rs. 3,75,000 and
Rs. 3,00,000. Calculate the tax expense to be recognized in each quarter as
per the applicabie Accounting Standard.

Mention the valuation rule for raw materials, finished goods and by-products
An unquoted long term investment is carried in the books at a cost of Rs.
2,00,000. The published accounts of the unlisted company received in May
2021 showed that the company was incurring cash losses with declining
market share and the long term investment might not fetch more than Rs.
20,000. How will you deal with this in preparing the financial statements for
the year ended 31st March 20217

Contd...2
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SECTION - C
Answer any TWO of the following. {2x15=30)

14. NAT, a listed entity, as on 1st April 2021 has the following Capital Structure:

15,

16.

a) 10,00,000 equity shares of Rs. 1 each Face value - Rs. 10,00,000

b) 10,00,000 8% Preference Shares of Rs. 10 each - Rs. 1,00,00,000

¢) During the Year 2021-22, the company has a profit after tax of
Rs. 90,00,000.

d) On 1st January 2022, NAT made a bonus issue of one equity share for
every 2 equity shares outstanding as at 31st December 2021.

e) On 1st January 2022, NAT issued 2,00,000 equity shares of Rs. 1 each
at their full market value of Rs. 7.60 per share.

f) NAT's shares were trading at Rs. 8.05 per share on 31st March 2022.

g) Further, it has been provided that the Basic EPS for the year ended 31st
March 2021 was plreviously reported at Rs. 62.3.

You are required to:

Calculate the Basic EPS for the year ended 31st March 2022 along with the

ve fi STALOVS{US CLLEGE LIBRARY
comparative figure. MANGALURU - 575 003

ABC Ltd has installed a New Plant at its production facility in a year. The total
cost of the plant including the motors is Rs. 3,38,00,000. The purchase price
of the motor and the proportionate directly attributable cost totals to Rs.
56,33,333. The company has identified Motors installed in the Plant as a
separate component. The company estimates the useful life of the Plant and
those of the motors as 10 years and 6 years respectively and SLM depreciation
is used. At the end of the 4th year, the Company replaces the Motors installed
in the Plant at a Cost of Rs. 60,00,000 and estimated the useful life of the new
motors as 5 years. Also, the Company revalued its entire class of plants at the
end of 4th year. The revalued amount of the Plant "as a whole is Rs.
2,50,00,000. At the end of the 8th year, the Company decides to retire the
plant from active use and also disposed the Plant as a whole for Rs.
60,00,000. How should the Company account for the above transactions in
accordance with AS 107

Nidhi Ltd purchased a fixed asset for Rs. 75,00,000 which has an estimated
useful life of 5 years and a salvage value of Rs. 7,50,000. On purchase of the
asset, the Government gave the Company a grant of Rs. 15,00,000, Pass the
Journal entries in the books of the Company for the first two years under both

the methods of accounting.
sk 3k 2 ok e ok ok ok ok
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st Aloysius College (Autonomous)
Mangaluru
B.Com- III Semester
November /December - 2023
(Skill enhancement Course)

FINANCIAL EDUCATION AND INVESTMENT AWARENESS
Time: 2 Hours Max Marks: 50
SECTION - A

Answer the following: (15 x 1=15)
1. Goods and service tax is a:
a) Direct tax
b) Indirect tax
c) Wealth tax

d) Professional tax

2. What is time value of money?

3. In which year was the RBI Act enacted?
a) 1934 h) 1947 c) 1950 d) 1881
4. Hypothetical Itd. has the following assets and liabilities. Calculate its capital
Tangible assets ¥ 25,00,000
Intangible assets ¥ 350,000
Current liabilities ¥ 120,000
Non-current liabilities ¥ 13,45,900

5. Which of these is not a money market instrument?

. | -
b. Commercial Paper MANGALURU - 575 003

c. T-Bill
d. Bonds
6. Greater the risk, the expected returns
a. Greater b. Lesser
c. Smaller d. None of these

What is an IPO?
Fundamental analysis primarily focuses on studying a company's ﬂnanéial
statements and economic factors. True or Fallse

9. The policies where the premium is payable throughout the life of the assured
is called

Whole life policies.

Renewable term policies.

Term life policies.

o 0 O o

Annuity policies

Contd... 2
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10.
11.
12.

13.
14,
15.

16.

17.

18.
19.
20.
21.
22,

23.
24.
25.

26.

27.
28.
29.

Expand RTGS

Give an example for non-tangible asset

Mr Amar has the following bank balances at Bank of Baroda

Savings account 4,17,200

Current account ¥ 25,000

Fixed deposit ¥ 85,000

What is the amount of Deposit insurance that he can claim in case the bank

fails?

What is repo rate?

Give any two examples of neo banks

Capital expenditure forms a part of the Balance Sheet. True or False?
SECTION - B

Answer any FIVE of the following in 2-3 sentence each (5x2=10)

Explain the principle of "not putting all your eggs in one basket" as it relates to

diversification. .
How is simple interest different from compound interest? Which is more

beneficial to the investors?

State the features of PMIDY account.

Name the two depositories in India. What is the function of a depository?
Differentiate between systematic and unsystematic risk

What is NAV with regard to mutual funds?

What is technical analysis? State the assumptions based on which technical
ST ALOYSiUS COLLEGE LIBRARY
MANGALURU - 575 003
SECTION - C

analysis is done.

Answer any FIVEE of the following in not more than 150 (5x5=25)
words each:

Explain the retirement and pension plans available to the unorganised sector.
Write a short note on SCORE.

What are mutual funds? Explain close ended and open-ended schemes of
mutual fund. Why is it advantageous to invest in mutual funds?

Write a short note on account facilities that can be availed by the Non-
Resident Indians

Explain the functions of Reserve Bank of India

Write a short note on BSE and NSE.

Briefly explain the investment objectives.
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10.

11.

12,

SECTION A
Answer the following questions {(Compulsory) (15x1=15)

Mention the technique used in Unsupervised Learning.

Expand NLP and OCR.

The capability of software to interpret the world visually through cameras,
video, and images is '
Al machines are highly reliable and but can not perform the same action

multiple times with high accuracy --True or false
In Artificial Neural Network interconnected processing elements are

called

Name any two antivirus softwares used in Computers.
What is Malware?
Name any two voice assistants.
A form of reasoning to arrive at a conclusion using limited sets of facts by
the process of generalization is
a) Common sense gt ALOVSIUS COLLECE LIS
b) Inductive MANGALURU - 575 003
¢) Deductive
d) Abductive
An example for Linguistic intelligence
a) Narrator
b) Singer
¢) Politician
d) Dancer
Which of the following is a component of Artificial Intelligence?
a) learning
b} training
c) designing
d) Pluzzing
Azure Machine Learning tool to create interactive reports and dashboards.
a) AutoML
b) Power BI
c) Jupyter Notébooks
d) Azure Databricks
Contd...2
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13. What is the primary goal of a cybercriminal when carrying out a phishing

attack?
a) to spread awareness about cybersecurity
b) to provide free software '
¢) to trick individual into revealing sensitive information
d) to win a prize.
14. What does "Phishing" refer to in the context of cybercrime?
a) A type of Fishing in a river.
b) A method used to steal sensitive information through deceptive emails or
websites.
c) A way to catch computer viruses.
d} A type of online game.
15. Which of the following is defined as an attempt to harm, damage or cause
threat to a system or network?
a) Digital crime
b) Threats
c) System hijacking

d) Cyber attack

ST ALOYSIUS COLLEGE EIBRARY
MANGALURY - 575 003 SECTION B

Answer any TEN of the following: (10x2=20)
16. What you mean by supervised Learning?
17. List four applications of Al
18. What you mean by musical intelligence?
19. What is reinforcement learning?
20. Mention the steps involved in Problem Solving.
21. Define Artificial Neural Network. Mention three layers in ANN.
22. What are the most common types of cyber security attacks?
23. What is Cyber Crime? Give examples.
24. Mention any two methods to prevent ~phishing.
25, What are three components of risk mitigation?
26. Mention the common types of financial frauds.
27. Mention any two sections of IT Act.

SECTION C

Answer any FIVE of the following: (5x5=25)
28. Explain the Advantages and Disadvantages of Al
29. Explain any two types of Machine Learning.
30. What is Reasoning? Explain its types.
31. Write a note on Cyber Security Model.
32, Explain any five types of Cyber Security.
33. Explain the different steps involved in reporting cybercrimes.
34. What is a computer virus? Explain the symptoms _of virus attack.
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II

A

II.

UNIT - I PROSE
Answer the following in a word/phrase/sentence each: (5x1=5)

“Cinema always portrayed courtesans as “whose lives are
intertwined in a morality tale.”

Expand the acronym GUI

Name the novel of Amitav Ghosh mentioned in the essay, ‘The Diaspora
Men.’

The pervasive bureaucracy emphasized capital goods vis-a-vis consumer
goods. TRUE/FALSE

What is the arrangement or classification of something into different
groups or strata known as?

Answer any THREE of the following in about 150-180 words each:

, (3X5=15)
Write a note on the experience of Munshi Rahman Khan on the Caribbean
Island.

What are the obstacles that prevent the end of caste system in India?
Explain. STALOYSIUS COLLEGE LIBRARY

MANGALURU - 575 003 .
Comment on the misogynist idea that “the ideal woman was a perfect

mother and wife, not a sensuous dancing girl”, with reference to the
essay, ‘Tawaifs of Awadh: The First Women of Hindi Cinema.’

Briefly explain the reasons behind India’s poor performance in creating
world class products and services?

UNIT - II POETRY
Answer any TWO of the following in about 150-180 words each:
(2X5=10)
The poet urges the slave to fight and liberate himself; if necessary, even

die for a cause instead of dying in vain. Explain with reference to the
poem, ‘Time to Die.’

Write a short note on the ordinary jobs done by the rural folk and the
threat for these jobs with reference to the poem, ‘For the Dispossessed’.

The poem, ‘We Wear the Mask,’ presents the familiar contrast between
“outside and inside,” “us and them” and “private and public.” Explain
these contrasts with reference to the poem.

Critically analyse the title of the poem, ‘The Unquiet Grave.” Do you
personally believe that life exists even after death?

Contd...2

34



G 735 LA1.3 Page No. 2

111,
1.
2,
3,
a,

IV A,
1.
2,
3,
a.
5.

B.
1.
2,
3.
4,
5,

.

p.

UNIT - IIX SHORT - STORY

Answer any TWO of the following in about 150-180 words each:

‘ (2X5=10)
In the short story, ‘The Bet’ the sixth year shows the prisoner developing
an enthusiastic interest in learning fanguage, history and philosophy.
Write a note on “isolation as a means to acquire knowledge.”
How did the renunciation note of the prisoner affect the banker? Explain.
Compare the spectacle of the trial with modern forms of public
entertainment.
Write a short note on the strange nature of the king with reference to the
short story, ‘The Lady or the Tiger?”

UNIT - IV GRAMMAR AND WRITING SKILLS

Choose appropriate words from the given list (adjective &

preposition) and fill in the blanks. (5x1=5)
Shewas _____  her friend because she had a better dress.

She is driving than he is.

We're totally ' the road -widening scheme and will fight it
all the way.

The town is especially its elegant architecture.

I felt very making such a stupid mistake.

(Adjectives: better, good, ashamed, capable, opposed,
responsible, famous, jealous)

(prepositions: at, for, on, of, to)

Choose appropriate phrasal verbs from the given list and fill in

the blanks. (5x1=5)
1 a vase that I wanted to buy when I went to the antique shop.
He asked me to the lights if I was the last to leave.

The price of tomatoes usually in the winter months.

When his father passed away, Tom the family business.

If you don't of his house, I'll send for the police immediately.

(get out, lock at, turn off, keep up, went off, goes up, came
across, took over) STALOYSHIS COLLEGE LIGRARY

MANGALURY -~ 575 003
Fill in the blanks with Simple Past/ Past Perfect forms of verbs
given in brackets: {(5x1=5)
When T arrived at the theatre, Kathy (already, pick) (1) up
the tickets and she was waiting for us near the entrance. She was really
angry because she (wait) (2) for more than half an hour. She
said she (almost, give) (3) up and wanted to get into the theatre
without us. She also told me that I (be) (4) late several times in
the past. She mentioned that she (miss) (5) several movies
because of my late arrivals. I think I owe her an apology.

Read the following context carefully and write a report in about
200 words: : (1x5=5)

The human resource manager has requested the members of the human
resource department to examine the high turnover rate of employees at
the GHS Corporation. A five-member team has analyzed the
administration records and working conditions as well has interviewed

staff.
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UNIT - I (PROSE)
I. A Answer the following in a word/phrase/sentence each:
(5x1=5)

1. According to Dr Ambedkar, what teaches the Hindus about religion
and castes?

2. Dr Kalam describes as the overwhelming and joyous
experience of working. (flow, peace, solace) ,

3. The essay ‘The Annihilation of Caste’ is written in....... parts by Dr B.
R. Ambedkar.

4. According to Swami Vivekananda India will be raised, not with the
power of the flesh, but with the power of the .

5. According to the essay ‘The Spirit of Freedom,’ the civilization of the
West has in it the spirit of the which must move.

B. Answer any FOUR of the following in about 150 words each:
(4x5=20)

1. What are Dr Ambedkar’s perspective on caste system-in India?
Elucidate.

2. How does the word “freedom” get explicated by Tagore in the essay .
*The Spirit of Freedom?’ Substantiate.

3. Comment on Swami Vivekananda’s views on unity and diversity in
India with reference to the essay, ‘India: Our Motherland.’

4, How did Swami Vivekananda define the concept of Motherland in the
essay ‘India: Our Motherland’

5. What is the significance of the title of the essay ‘Work Brings Solace?’

6. How is the notion of caste hierarchy and untouchability gets

challenged by Dr Ambedkar in the esi%‘!‘The Annihilation of Caste?’

explain with reference to the essay. 1 ALOVSIUS COLLEGE LIBRARY
MANGALURU -~ 575 003

UNIT - IT (POETRY)
II. Answer any THREE of the following in about 150 words each:
(3x5=15)
1. Discuss the various literary devices Grenville Kleiser uses in the poem
‘Stay Calm’ to convey the main idea.
2. According to Rudyard Kipling, what qualities one must possess to be
successful in life? Substantiate.
3. Enumerate the concrete instances that the poet presents where we
are advised to stay calm. Mention some of the specific life instances
presented in the poem, ‘Stay Caim.’

4. How does the poem ‘Success is Counted Sweetest’ explore the idea
that success is elusive and precious to those who have felt its

absence?
Contd...
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UNIT - XII (NOVEL)
I1I Answer any ONE of the following in about 250 words:
(1X10=10)

1. Compare and contrast the character of Juggut Singh and Igbal, with
reference to the novel, Train to Pakistan.

2. Discuss the role of religion as a unifying and divisive force with
reference to the novel, Train to Pakistan. How does it shape the
characters’ beliefs and actions?

3. Reflect on the ending of the novel Train to Pakistan. What message
does it convey? ST ALOYSHUS COLLEGE LIBRARY

MANGALURY - 575 003
UNIT - IV (GRAMMAR AND WRITING SKILLS)
IV A. Give one-word substitutes for the following choosing the right
word given in the brackets: {(5x1=5)
1. A person who Insists on something

a) Disciplinérian b) Stickler ¢) Instantaneous d) Boaster

2. One who possesses-many talents

a) Versatile b} Nubile c) Exceptional d) Gifted
3. A person pretending to be somebody he is not

a) Magician b) Rogue ¢) Liar d) Imposter
4, For which no salary is paid

a) Obsolete b) Honorary c) llliterate d) None of the above
5. A trite stereotyped expression
a) Cliché b) Proverb ¢) Idiom d) Buzzword

B. Write a dialogue in about 150 words in five turns:
(1x5=5)
Write a dialogue that takes place between two friends discussing the

necessity to use cell phones in college campus.

whwhkhNRRK
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UNIT - I (PROSE)
I. Mettez les verbes au conditionnel. (5x1=5)
Je ....{aimer) voir un film, mais je dois étudier.
Si je vais a Touba, je ...... . (voir) la osque a Touba.
Si tu m‘appelais, je ...... {venir) tout de suite.
Si tu as soif, ...... (boire) de 'eau.
S'ils ... .(vouloir) du pain, ils me le diraient.

A A

II. Rapporte des paroles (5x1=5)
1. «Vous aurez moins de travail. » Elle nous assure
2. « Aie de la patience ! » La mere dit
3. « Il a mangé de fruit. » Jean dit
4, « Alex va faire le tour du monde. » Il dit qu’il
5. «Ou habites-tu ? » Je veux savoir__.

III. Mettez les verbes au voix passive (5x1=5)
1. Les éléves font les exercise. STALOYSIUS COLLEGE LIBRARY
2. Les enfants mangent les fruits. MANGALURU - 575 003
3. Les enfants ramassent les fruits
4. Janet a regardé les dessins animés.
5. 20 septembre, vote de la loi des finances.

IV. Mettez les verbes au temps indiquez (5x1=5)
1. Les éleves (apprendre, passé composé) les verbes.
2. Nous _ (placer- présent) les livres sur la table.
3. Elle (découvrir- passé composé) ce petit resto par hasard.
4, Situes maiade, chez le medecin.(aller, futur simple)
5. (Vouloir, présent) -tu me préter ton stylo ?
V. Répondez aux questions (4x5=20)
1. Expliquez les 3 monuments historique en France.
2. Discutez l'art Francais.
3. Expliguez I'histoire du cinema frangais.
4. Expliquez qu'est- ce que vous feriez ~ si vous ganniez une grosse

somme d’argent?
Contd...2
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VI.
a)

b}

VII.

Dialogue (10x1=10)

Vous devez faire une activité originale. mais deux entre vous ne sont pas
d’accord.

Ou

Un(e) ami(e) est parti(e) seul(e) en vacances dans un pays étranger. Elle
devait rentrer it y a trois jours. Vous n‘arrivez pas a avoir de ses Nouvelles.

ST ALOYSIUS COLLEGE LIBRARY
COMPREHENSION MANGALURU - 575 003 (5x2=10)

Si vous appréciez le 7eart, bienvenue en France, le pays qui aime le cinema!
Eh oui, le cinéma est né en France, il y a maintenant plus de 100 ans : les
freres Lumiere, des Lyonnais, projettent le premier film en public en
1895.Aujourd’hui encore, te cinema tient une place a part dans lecoeurdes
Francais. I faut dire que les films Frangais offrent une trés grande diversité :
des comedies aux films de genre en passant par les films d‘auteur et les
films historiques, tout le monde estsir de trouver gquelque chose qui
Iintéresse ! Bien sdr, il y a les réalisateursconfirmés comme Claude
Chabrol,AlainResnais, Bertrand Tavernier, Claude Leiouch et Luc Besson
entre autres mais la nouvelle génération de cineastes(Arnaud Desplechin,
CédricKlapisch, Francois Ozonou Robert Guédiguian) propose actuellement
des films trés personnels et qui connaissent beaucoup de succeés. N'oublions
pas non plus la nouvelle tendance : la feminisation de la profession avec
Laetitia Masson, Agnés Jaoui, Tonie Marshall, Daniele Thompson et
ZabouBreitman : unegénération qui porte un regard bien particulier sur la
réalité sociale et les relations humaines. En 2008, prés de 36 millions de
Francais ont fréquenté les salles obscures etilssontaussi trés nombreux a
aller dans les festivals de cinéma que compte la France. A cdté du Festival de
Cannes qui n‘est plus a présenter, il existe dautres festivals plus spécialisés
dans un genre qui font fe bonheur des cinéphiles : le festival du film
américain de Deauville, le festival du film de comedie de I'Alpe d'Huez, le
festival du film policier de Cognac par exemple. Autre preuve que les
Francais aiment leurs acteurs et actrices ? La cérémonie des Césars, qui
récompense les meilleurs films et professionnels, est trés suivie a la
télévision. Et que dire de la trés populaire Féte du cinéma qui permet chaque
année & des milliers de personnes de profiter du grand écran a un prix
intéressant ? Enfin, le cinéma frangals s'exporte aussi trés bien,
particulierement les films d’animation qui sont maintenant reconnus sir le
plan international.

1. Qui est a 'origine du cinéma ?

2. Citez trois réalisateurs connus depuis longtemps par les Francgais.
3. De quels thémes parlent les films faits par des realisatrices ?

4. Donnez deux genres de film qui sont céiebres dans un festival ?

5. Quelle féte permet aux spectateurs d'aller voir des films pour pas cher ?
2k e 3k ok ok Ok
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PART - A
Constitution of India
I. Answer any FIVE of the following questions. (5x2=10)
1. State the meaning of Constitution. Mention any one significance of Constitution.
2. Who serves as the real executive head of the Indian Government and could you
mention two functions or roles of the real executive head.
3. Which of the following is not included in the III part of the Constitution of
India? , (1 mark)
a. Right to Equality
b. Right to Freedom
c. Right to adequate means of livelihood
d. Right against Exploitation
and Why do you think it is not incorporated in part III of the Indian
Constitution? (1 Mark)
4. Are Directive Principles of State Policy in India justiciable? Write any two
Gandhian principles of Directive Principles of State Policy.
5. What is meant by bicameral legislature? Name the lower house in the Indian
Parliament.
6. Write any two significance of Right to Information Act. Which Fundamental Right
of the Constitution of India is associated with the Right to Information Act?
7. State the meaning of “Writ of Habeas Corpus” and who can apply this Writ?
8. Mention any Two characteristics features of Federal Constitution.
ST ALOYSIUS COLLEGE LIBRARY
1I. Answer any FIVE of the following questions. WMANGALURU - 575 003 (5x5=25)
9. Write a note on Constituent Assembly of India .
10. Explain the Preamble of the Constitution of India.
11. Explain the features of 73rd and 74 Constitutional Amendment's.
12. Explain the composition and organization of Rajya Sabha.
13. Examine the unitary features of Constitution of India.
14. Explain the functions of election commissions in India.
15. Three children at a school in Kerala belong to a sect called ‘Jehovah's

witness’, who worship only Jehovah the creator and none other, refused
to sing the National Anthem: ‘Jana Gana Mana’. According to them, it'is
against the tenants of their religious faith-"not the words or the thoughts
of the National Anthem, but the singing of it”. They desisted from actual
singing only because of their aforesaid honest belief and conviction. They
used to stand up in respectful silence daily, during the morning assembly
when the National Anthem was sung.

Do you approve of the behavior of children? State your reason. (2 Marks)

State this case in the light of Right to Freedom (Art. 19) and Right to Religion

(Atr.25) with specific reference to right to conscience. (3 Marks)
Contd...2
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III.
16.
17.
18.

Iv.
19.
20.

21.
22.

Answer any ONE of the following question. (1x10=10)
Examine the Composition and Jurisdictions of Supreme Court of India.
Explain the salient features of the Indian Constitution.

Explain the normal and emergency powers of President of India.

PART - B
VALUE EDUCATION
Answer any ONE of the following in not less than a page. (5x1=5)
Explain the areas factors to consider for accomplish partner during marriage.

Explain the characteristics of a functlonal family.
: STALOYSIUT 7ULLERE LIRDARY

MANGQL-‘.’ *; - 73003
Answer any ONE of the following in not less than two pages. (10x1=10)
Explain the permanent faming planning methods and its advantages.

Explain the factors that help in building a healthy families.
K K oK K oK K KK
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